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In a Zoo, there are rabbits and pigeons. If 4 )
heads are counted there are 200 in all and if C) ol

legs are counted there are 580 in all. How
many pigeons are there in the Zoo ?

UPPCS Pre 15/12/2019

d 130
b




C

many articles should he sell

make a profit of 20% ?

&

F “+ A man bought 18 articles for Rs 7. How

for Rs 7 to
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§ <+ A man bought 5 things for Rs 1, how many
things should he sell for Rs 1 to get 25%

profit ?

@ et A5 M 1 Rs F @A, IR 1Rs A /
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If he makes 50% profit on one pipe and

auTg # I fHaa Tug &1 19 Y41 g1+

gt 2 ##
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F * A person sells two pipes for Rs 1800 each. E% / £ ) /

50% loss on the other, then how much % t

profit or loss will he make in the entire 3 b(If)LSCZ__ 025/
business ? W v
wafk A A A A @ Afsodrs ¥ A5)= LB — g0 P
99d1 81 S P UISU W 50% PT A1H T 1— cp

gI W I 50% B T BH T AR 343660 e
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F <+ A person buys two watches for Rs 480. He sold
one watch at a loss of 15% and another at a

profit of 19%. After that he comes to know that H X _@_?_ S Bx
he has sold both the watches at the same price, M
find the cost price of both the watches ? /\

TP Afad 480 Rs ¥ 31 ufeyl @Wilgar 31 98 0@ _Q__ A1 _7_
T3 B 15% P 81 W 3R TP °S B 19% &1 R 8% 5

W dGdT ¢ IS UG @ ¥id el & b 3w \_/
o

3 ufdal v v geu W 3t & S ufsal &
:? T B 2 =
80 Rs, 200 Rs &
b) 200 Rs, 280 Rs =40

c) 240 Rs, 200 Rs
d) 240 Rs, 280 Rs
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! * Find the single discount of 20% and 10% ?
20% Td 10% P T FE J1d 1 7

28/
T
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5 “ What is the equivalent discount of two
successive discounts of 10% and 15% ?

10% TUT 15% DI 3 PP Jel P! A
BC Fars ?
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Fl_f the difference between successive
discounts of 30% and two 20% on a bill is
Rs 42, then find the amount of the bill ?
af¢ U@ faa d 30% U7 Gt 20% Bt AN
@el BT 3faX 42 Rs g dl faa <1 7l 719
B ?

a) 500
b) 600

\sf700

d) 800

b
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§ “* If the difference between a single
discount of 35% on a bill or two

successive discounts of 20% and 10% is Rs
42, then what is the amount of the bill ?
gfe U faw # 35% @ U P YT 20%
T4 10% DI Gl HANTT Jel & dId 3fax 42
Rs 81 df faer &t i aaran 2

a) 500
b) 600
c) 700
d) 800
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5 “* What is the single equivalent discount of
25%, 20%, 10% ?
25%, 20%, 10% P! Thd A Fe adisil ?

a) 40%

b) 45% ‘0'25'/" 0} |0
c) 46% Ay
d) 49% &5+&0~% K(
CZ l‘l0‘|' |D_ M
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“* What is the equivalent single discount of
5%, 10%, 15%, 20% ?

5%, 10%, 15%, 20% &1 A UHd dgl
qqrsi 2

a) 46.42

b) 41.86%
c) 43.82%
d) 48.74%
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g Tam
a) 30dl @< / 30th discount

discount

&

; < 4%, 8%, 12%.............. state the following
about the discount in this sequence.

4%, 8%, 12%..ccuseee... 39 U Bl P & IR |

b) Thcl HHJT YC / Single equivalent
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ﬁ::ind a single discount of 50%, 50%, 50%,
50% ?
50%, 50%, 50%, 50% P! THd Fe adlsil ?
BF93.75%
b) 97.64%
) 91.79%
d) 95.24%
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